KEYWORTH CRICKET CLUB - 1889 SEASON

President:Chairman:Gen Sec:Treasurer:1st XI Captain:Vice Capt:Umpires:Scorers:

Groundsman:

Review of the Season:

Played 25 matches, Won 12, Drew 10 and Lost 3.

William Tomlinson. was selected to represent a Nottinghamshire Colts XXII that played a two day, two innings match against Nottinghamshire CCC at Trent Bridge on Monday & Tuesday 22 & 23 April. William batting at number 4 and scored 5. He bowled 3 overs and claimed 3 maidens with no wickets.

Matthew William Wright is Captain of Nottinghamshire Colts at Trent Bridge v Yorkshire Colts in a two day, two innings match on 3 & 4 June.

A meeting of the Nottinghamshire Cricket Association took place on 20th September and it was decided to form a League and KCC were selected to participate in the Senior Division and rule changes were adopted by the MCC increasing 4 ball overs to 5 balls and legalising declarations.

1st XI MATCH RESULTS...

MATCHIKES			
11.05.1889	SHEPSHED	Α	?
18.05.1889	NOTTS FOREST AMATEURS	Η	?
25.05.1889	T I BIRKIN & Company	А	?
01.06.1889	I & R MORLEYS	Н	?
08.06.1889	HYSON GREEN	А	?
15.06.1889	RUDDINGTON	Η	?
22.06.1889	RUDDINGTON	А	?
29.06.1889	T I BIRKIN & Company	Η	Draw
06.07.1889	HYSON GREEN	Η	?
13.07.1889	ST ANDREWS INSTITUTE	А	?
20.07.1889	CROPWELL BISHOP	Н	Won by 35 runs
27.07.1889	I & R MORLEYS	А	?
03.08.1889	ALL SAINTS	Н	?
24.08.1889	FOREST WANDERERS	А	Lost by 71 runs
10.08.1889	HUCKNALL PORTLAND	А	?
17.08.1889	FOREST WANDERERS	Η	?
31.08.1889	ST ANDREWS INSTITUTE	Н	?
07.09.1889	NOTTS FOREST AMATEURS	А	Lost by 62 runs
14.09.1889	ALL SAINTS	А	Draw
19.09.1889	CROPWELL BISHOP	А	Draw
21.09.1889	HUCKNALL PORTLAND	Η	?
23.09.1889	SHEPSHED	Η	Draw

HIGHEST SCORE: 142 KEYWORTH v CROPWELL BISHOP (19.09.1889)

LOWEST SCORE: 21 KEYWORTH v FOREST WANDERERS (24.08.1889)

1st XI BATTING Averages (qua	lification : 6	Completed	l Innings)
	Matches	Innings	Not Out

	G Miterages (quann	Matches	Innings	Not Out	HS	Total Runs	Ave
W A PI		24	23	7	46*	325	20.31
Arthur		19	18	2	58	299	18.69
John PI		13	11	0	44	194	17.64
	ALLAM	7	7	0	38	95	13.57
A SIMI	PSON	10	7	1	26	78	13.00
W L PI	KE	9	7	1	31	76	12.67
Thomas	S ATTEWELL	8	6	0	31	64	10.67
John A	TTEWELL	13	10	2	24	65	8.13
J LACE	EΥ	7	6	0	13	37	6.17
T TOM	LINSON	8	6	0	13	37	6.17
William	1 PIKE	15	13	0	16	80	6.15
Walter .	ATTEWELL	7	6	0	9	36	6.00
H HOD	GETT	9	6	0	8	25	4.17
Also Batted							
	n ATTEWELL	3	3	2	133*	167	167.00
	n TOMLINSON	5	4	0	48	105	26.25
H MILI		1	1	0	23	23	23.00
	RIGHT	5	4	0	34	59	14.75
W T RI	CHARDS	8	7	3	16*	43	10.75
S HALI		5	5	1	23	43	10.75
S PIKE		1	1	0	6	6	6.00
Horace	PIKE	4	3	0	8	13	4.33
Thomas	SIMPSON	4	3	0	8	13	4.33
H HEB	В	7	4	1	1	11	3.67
T A AR	MSTRONG	1	1	0	1	1	1.00
Walter	PIKE	1	1	0	1	1	1.00
G TOM	LINSON	2	2	0	2	2	1.00
F CLAI	RKE	1	1	0	0	0	0.00
J TOMI	LINSON	1	1	0	0	0	0.00
I TOMI	LINSON	2	0	0	0	0	
Best off the Ba	t						
Runs	Player		Opposition	n		Venue	Date
133*	William ATTEWEI	LL V	••				
58	Arthur PIKE	V					
Leading "6" Hitters of the season							

Best Batting Partnerships of the Season Wkt Runs Partners

Opposition

Date

1st XI BOWLING Averages (qualification 8 wickets or 60 overs)

	Overs	Maidens	Runs	Wkts	Ave
William ATTEWELL	27.3	8	20	11	1.82
Walter ATTEWELL	140	54	181	37	4.90
W L PIKE	70	30	84	17	4.94
Arthur PIKE	24	8	42	8	5.25
W A PIKE	60	21	99	17	5.82
M W WRIGHT	48	17	56	9	6.22
H HEBB	185	68	260	36	7.22
John PIKE	60.2	21	102	11	9.27
W T RICHARDS	74	17	127	12	10.58
A SIMPSON	73	26	108	7	15.43
Also bowled					
William TOMLINSON	5	2	4	3	1.33
George TOMLINSON	6.3	1	9	4	2.25
John HALLAM	16	2	34	4	8.50
John ATTEWELL	26	9	40	3	13.33
William PIKE	27.2	6	57	4	14.25
T A ARMSTRONG	10	3	18	0	
T ATTEWELL	17	5	34	0	
S HALLAM	1	0	6	0	
T TOMLINSON	4	1	11	0	

Best with the Ball...

Figures	Player		Opposition	Venue	Date
7-23	H HEBB	V	T I BIRKIN & Co	Н	29.06.1889
6-49	H HEBB	V	NOTTS FOREST	А	07.09.1889

1st XI CATCHING & STUMPING:

	Catches	Stumpings		Catches	Stumpings
Walter ATTEWELL*	5		William ATTEWELL	1	
J LACEY	3		T ATTEWELL	1	
J PIKE	3		Arthur PIKE	1	2
William PIKE	2		Horace PIKE	1	
W L PIKE	2		W A PIKE	1	
T TOMLINSON	2		A SIMPSON	1	
M W WRIGHT	2		G TOMLINSON	1	

Note: * 4 catches in one match.

2nd XI LEAGUE MATCH RESULTS...

2nd XI BATTING Averages (qualification: 6 Completed Innings) Matches Innings Not Out

2 nd XI BATTING Averages (qual				ЦС	T (1 D	
	Matches	Innings	Not Out	HS	Total Runs	Ave
T S ARMSTRONG	9	9	2	90*	244	34.86
TARMSTRONG	6	6	0	26	66	11.00
H MILLS	6	6	0	25	57	9.50
Shelton PIKE	8	8	0	25	65	8.13
H B SIMPSON	9	9	0	26	61	6.78
Also Batted						
Walter ATTEWELL	2	2	1	23*	23	23.00
George TOMLINSON	4	4	2	23*	42	21.00
Arthur PIKE	2	2	0	22	43	21.10
J D TOMLINSON	4	4	0	39	51	12.75
Horace PIKE	5	5	0	40	71	14.20
William PIKE	1	1	0	13	13	13.00
W WIDDOWSON	6	6	1	33	56	11.20
J ATTEWELL	1	1	0	9	9	9.00
Joseph LACEY	5	5	1	19	34	8.75
H HODGETT	4	4	0	14	23	5.75
T SIMPSON	5	5	1	10*	22	5.50
W T RICHARDS	1	1	0	5	5	5.00
H HOPKINSON	3	3	0	6	12	4.00
T TYLER	1	1	0	4	4	4.00
J ASTILL	1	1	0	2	2	2.00
F CLARKE	1	1	0	1	1	1.00
A STATHAM	1	0	0	0	0	
H SIMPSON	1	1	1	7*	7	
Henry WRIGHT	1	1	1	2*	2	
Walter PIKE	1	0	0	0	0	
A SIMPSON	1	1	1	58*	58	
Best off the Bat						
Runs Player		Opposi	ition		Venue	Date
90* T S ARMSTRON	G	V				
58* A SIMPSON		V				

Best Batting Partnerships of the Season Wkt Runs Partners

Opposition

Date

2nd XI BOWLING Averages (qualification 8 wickets or 60 overs)

	Overs	Maidens	Runs	Wkts	Ave	
Thomas SIMPSON	32	10	47	14	3.36	
Also bowled						
G TOMLINSON	3	2	1	2	0.50	
T S ARMSTRONG	10	0	16	3	5.33	
H MILLS	42	7	34	6	5.66	
W WIDDOWSON	11.1	4	19	3	6.33	
H HOPKINSON	22	10	32	5	6.40	
Horace PIKE	11	2	22	3	7.33	
W T RICHARDS	16	7	23	3	7.67	
William PIKE	8	3	16	2	8.00	
Best with the Ball						
Figures Player		Opposi	tion		Venue	Date
		V				

2nd XI CATCHING & STUMPING:

Catches Stumpings